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Note:

a. Exp

b. Erp

. lvlax. Marks: 100

Attswer oryt FlVE.futl qtrastions, cltoositrtrl OfrE futt question Jiorrt crtt,h tttodttlc.

Moclule-1
lain the rvorking of I{TTP along rvith its requirecl ancl rcsporrsc,rrassasc lirn-nat,

lain the P2P architecrure for tiic sha,ng illiil;1il]

a.

b.

a.

b.

a

b,

at.

b.

OR
Explain the rvorking of SMTP. Also explain mail acocss prorocors.
Explain the seruices offcred by DNS aiong u,ith DNS recorcl ancl rncssage- lun-nat.

Module-2
Explain the working of Go * Ilack* N prorocol.
Draw and explain the FSM for sender site ancl receir,,er site of rclt 2.0lrrotocol.
Explain UDP scgrncnl. slrllcturc.

OR
Draw TCP segment sttxcture and explain its field.
Explain three way handshaking procedure used by TCp.
Explain hou, TCP hancller congestion.

plain lPv6 packet
plain the rvorkir,g
plain ar-ry two bror

Ex
Ex
llx

fbrmat
Module-3

of
acl

protocol
(0(r )'lrrlis)
(07 I{ n rlts)
(07 Nlarl<s)algorithm.

OR
(10 N'larlis)

er the following netrvorl<s r.r,ith thc indtcated iinl< cost_s

a

b

Explain the struc
Write iink

ture of a router.
algorithn-r, consid

Apply link
state

state
the netrvorkl

routit-tg algorithm to compr:te the shortest path front 'r,r' to all other noclcs in

f

Fig.Q6(b)

o
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(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(08 Marks)
(08 Marks)
(04 Marks)

7

9

l0

b,

Il odtr lc-4
Explain thrce phascs of mobile iP.
Illristrate the trvo cliflerent approaches fbr routing to a rnobtle node"

Ex;rlain 3C ce llLrlar networks architectuS.t
wlrat is hancloffJ IJxplain the steps involved in accornplishing handoff.

Module-5
Explain tite t,orking o1 CDN.
Iirplain threc clillerent wirys olstrearning stored video.

OR
Explain tlrc various packct scheduiurg mecitanism.
I:xplain thc leaky bucke t policing lrechanisrn.
lrxirlaut tirc propcrties olar-rclio.

8 iI
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a

b

a.

b
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Time: 3 hrs

Note:

I a. Dedne DBMS.
from traditional

b. What are the function
c, Explain the Three - S

2 a. Write an E - R diagram
attributes and rel

Administrators (DB
with a neat d

OR
g database.

of design.

: 100

How does it differ
(10 N{arks)
(04 Marks)
(06 Marl<s)

your owll entries (rninimum 5

Semester B.E. Degree Examination, Feb./Mar, 202
Database Management System

full questions, choosing ONE full question module

Module-1
in detail the characteristics of
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entities),
for ,C+ b

ati ratio,
b. Explain with neat sketch, the di

.w is a view created and

b, Explain the following :

i) Embedded SQL

, DNo)
SN, MGRSTARTDATE)

ip)

for the 'Research'

controlled by

Module-3
dropped? What are the problems associated with

ii) Database Stored Procedures.

l of 2

{t,

(10 Marks)
(10 Marks)

department

(10 Marks)
(10 Marhs)

relational

Marks)
0 Marks)

(10 r\{a

(101\{arks)

3 a, Consider the following schema for a

EMPLOYEF (Name, SSN, Address,
DEPARTMENT (DName. DNumber
PROJECT (PName, PNumber. unl)
WORK.S-ON @SSN, PNo, Hours
DEPENDENT (ESSN. Sex, B
Write the queries in relational to
i) Retrieve the name and f all employees

department.
ii) Find the names of who work on all

number 5.
iii) List all the proj which employee 'Smith' is
iv) Retrieve the loyees who have no dependents

b. What is a Rel

a.

wirh

4

the characteristics of relations

OR
the f SELECT statement. Write the SQL query for the

='John' AND LName :'smitrr' @MPLOYEE))'
explain aggregate function in SQL

the ALTER TABLE command can be used to add and drop
b.

c)
$

5
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Elgebra
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a)

a,

b.

a. Explain Multivalued deper-rdency

b. Consider the relation schema

R = {A, B, C, D, E}. Suppose the

8

6 vanous

7 a, What is

9 a. Explain why a transaction
cons iderin g the fo llowing
T1 : read (A) ;

A:=A-50;
write (A);
read (B);

OR
steps it't JDBC process by giving examples for each step.

Exptain with an example, how a trigger is created.IS

I

Marks)
(10 Mark$

for a set of
(10 Marks)

the relation

(l0Marks)
(10 Marks)

during
Marks)
Marks)

Module-4
Dependency? Write an algorithm to find a

functional
b, What is the Normalization? Explain second normal

EMP-PROJ: er, Hours, EName, PName,

Assume {SSN, ) as Primary key.

The dependencies

{SSN, PNumber} -+
SSN -+ {EName}
PNumber -+ {PName , )

2NF (10 Marks)Normalize the above

OR
with an example, .(10 Mark$

endencies hold

{E-+ A, CD -+ E, A-+ BC, B + D}.
State whether the following decompos are lossless join decomposition or not ,

Justiff.
i) {(A,B,C),(A,D,E)} ,q), (c, D, E) ). (10 Marks)

be ACID properties by

<1

I

D,-D "-
write

b. Explain the

B+50
(B).

10 a. Draw a

b. With

techniques.

OR
and discuss the typical states that a transaction

, explain two phase locking.
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Fifth semester B.E. Degree Examinatioh, Feb.iMa r. zazz
Automata Theory and ".Gomputabi lity

Time: 3hrs. 1,, Max. Marks: 100
Note: Answer any FIVE full questtons, chopsilg ONE full question froru each module.

MOaut"-f
a.

b

Dellne strirrgs (05 i\llrlis)
Define DIrS N4 langu agcs
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i) 1- w€
nu nrbers

fi

ii) L = {rve {a, bl- : (#,(w

Ditferentiate IVIoore mach ines and N4ealy rnachines.
(12 Nlarlis)
(03 t\Ilrlisl

to rts eqLrii'alcnt l)l;SN,i. ILcl'cr Fig.Q.2(a).
(12Illllis)

) a. Deline NDI?SM. Convert the fbllow

a

o-

b. Let N4 bc thc lollowins DFSM

nto4{

l--ig.Q2(a)
Lise rrin DFSM to ntr nir-nize i\4. tLel'cr lrig.Q.2(b). (0n Mlr.lis)

ft

I,

3a.

F ig.Q.2(b) 
{)'

Module-2
Deflne reqltletr expression and lvrite regular cxpresstons Ibr thc Io11or.r irrg lansLurscs.
it L . ;n e ia. bl' : rr i is crcrr;

ii) L -- {r','€ {0, 1l-:w corresponcls to the binarl,encoclirrq^ u,itlroLrt lcaLlrns 0's. pl
natural numllers that are porvers of ,1]

iii) L = tu"b,rcPln < --l. rn > 2.p < 2,l (10 i\,r,r-rts)

Builc'l a regular expressior-r equivalent to DFSM given belou,. Refbr Fig.Q.3(bt (r)5,\tar.lts)b

ki.,$'

c. Build a FSM that acce

a
Fig.Q.3(b)

pts the langLrage clefinecl by reguial expressurn : (tr ,-; 3[)- (05 Mrrti.s)
I of2
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5 a. l)cllnc C_'ontext Jrree Gramntar, I)

a. Deflrrc re gular gramn-]ar. and shou, a regular grammar ior the langr.iage
1- ,- ]r., e {a. bl" , 1*,] is .r,.n }

b. Statc a,d llrove tltc puntping,theorern for regr-ilar lar"rguage s.

c. Shou,thet the language 1- =,la"b''1, - O] is not reguiar.

IVIodule-3
esign a CFG fbr each

OR

)k;t*r:+

2of2
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(06 Marks)

(08 Marks)

(06 Marks)

(l0lVIarks)

i)

ii)

iii)

t-=1.'b".rln>0)
I ={a b,ck].i =i+k,vi,j,k>0}
I lrr h rrr)n.nr*niscven

C'onver-t ihe lbllorving grarrmar to Chomskv normal form:
S + aACa

r\ + Lla

IJ , ( t

( -+ .L l;

OR
I)c1lnc PDA. Obtain a PDA to accept the language
1 = 1 ,, l', r.r "' n rrr > U and rrr is .uen )

Corrver-r the lbllorving Clr(i to pDA.

l:*1,,1-lI
i - l,*ljl:
l:',rl 1i..i

Whe n a l)l)A is called as deterministic pDA,l

Module-,1
Slntc lnd prove punrpine theorcnt fbr CIrL.
Shon Lhar thc lbllori,urg langLrage is not conte.rt fiee

lrl_-ilL [r"c n>0i
[)roVc t]tat cotltcxt ft'ec languages are closecl uncler Union apcl concaten3tion.

shorr, tlrc nroves 1br the string 001 l.
[]r-icllv clis-eLrss the techniclLres Ibr'l'r-rring mechine cronstrLrction.

Moclule-5
\\" jth ii lical cliagrrtrtt. explain the model of Iirrear boupclecl autor-r-rzrtion.
ErpIa;rr ri or'l<inc of nrultitape turnir-rg rnachinc.
I:rlliltitr Iltltt'a p0st cotlesponclenc,e problcnr can be treateci as a gamg o1'dorlinocs.

of' the lb llowing languages

b

(ra

C

b

(I0 Marks)

(10 Marks)

(06 Marks)

(04 Marks)

(08 N{arks)

(06 Marks)

(06 Marks)

(10 Nrtarks)
(04 Marks)

(08 Marks)
(05 [{arks)

(06 )'lrrks)

(10 N,Iarks)

(05 N,Iarks)

(05 NIarks)

C

7 l'l

L)

li a.

C

b

OR
\Vjth a rlcat blocl( cilagranr, explain the rvori<ing of basic nroclel fbr'l'gring nracSipe.

Dcsigrr I'r 'l-Lt.ins tnachire that accepts L = {0',"In >O} nrarv the transition ciidfr6a:io||:

9 e.

b

cl ,

OR
\\iritc sltor-r notcs on the fbllowing:

li. QLlantLiln colnpLltation ancl cluantllm conlputcrs
b. . (lhLu'clt 'l,rrring 

Thesrs
c" Thqpost-corresitonclenccproblem.
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